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Problem set 16: indefinite integrals II.
Compute [ ﬁ_% dx.
Suppose that a 3& 0. What is f — dx, where n € N?
Compute [ m dx.
What is the primitive of e”/2e” + 27
Determine the primitive of cos*(x) sin(z).
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Calculate f = +6 —dzx.
What is [ z%e* * dx?

Compute dx.

1
Compute fmdx
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Determine [ #&EL£22=1 gy
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Compute fmdl’
Find f (‘/ﬁ
1 ?
(x)°
Compute the primitive of m
Show that
2t z
sin(z) = N - (22>$ ,
+ tan (5)
1 — tan? (%)
cos() 1+ tan? (£)’
2t z
tan(z) = ! ?n 22)00
— tan” ()

Then determine the primitive of 3++s(x) by using the substitution v = tan (%)

Compute [ (% — SiH(l‘)) dw.

Show that
L, tan?(x)
) = ()
. tan(z)
sin(z) cos(x) = l—I—TnQ(x)
) B 1
cos™ (1) = H—Tnz(x)‘

Then use the substitution ¢ = tan(z) to calculate
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2+40082(x)x

Compute [ tan )dx.
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Compute [ T
Compute [z tan®(z) d.



